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TENALI
RAMAKRISHNUDU

(a story)

Once upon a time a king
called Krishnadevaraya was rul-
ing the Vijayanagara kingdom.
There were eight poets in his
court. They were called Ashta
diggajams (eight mighty el-
ephants). Tenali Ramakrishna
was one of them. He was a great
poet in Telugu. Krishnadevaraya
used to ask the poets some puz-
zling questions. Tenali Rama-
krishna used to answer them.

One day Krishnadevaraya
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said, "Whosoever, on any issue,
could make me say 'yes' will be
suitably rewarded."

Then Tenali Ramakrishna
rose and said, "Oh King! I will
be able to make you say yes.
Please permit me.

"Not simply 'be able to', but
you should. Otherwise, you will
be punished. Be careful.", said
the king. Tenali Ramakrishna
agreed to it. "Well, you say any
three sentences of your choice
and make me say yes", said the
king.

Then Ramakrishna said, "Oh
Emperor! You are the lord of
the empire." Krishnadevaraya
could not say no. He had to
say yes. "Tell another sentence",
said the king. "Oh Emperor!
Your mother is not a barren
lady", said Ramakrishna. The
emperor could not remain with-
out saying yes this time also.
"Tell the third sentence also", the
king said. "Oh Emperor! Your
wife is loyal to you" said
Ramakrishna. The emperor
could not say no this time also.

As per his promise, Krishna-
devaraya summoned for a costly
necklace and presented it to
Ramakrishna.
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about your age, you
would say 18. Now you
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Once in a magazine they
mistakenly printed 81.
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c¢. Substitution drill
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d. Response drill
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Model (iv) g e o DI woeTe? (deo-Taw)
D A EGed TAT, 0B,
1. 38) Dotk Do DA%, SoBardd? (2SS -ndBawg)
2. TG Teohe) B0 Jo DIy wokd? (C&GrS - )
3. 82 &GOS’ 0P Do DIT ot d? (Fem-S 8w )

€.

Conversation drill

Model (i)

f.

DO & Yrew DS Sardo?
Do I8 Fadgio.

Model (ii)

INToL NIy (Y aDgIONS HSTBD.

L APS 56 2088 S5 FD?

%3576 -
PO et

LT L TS0 IS SETE?

O 1 it eea e
70

D®

Transformation drill
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Model (iii)

WeTYK SHOE WOT. 3. & J%C0 WD TVEB0T .
ey THd8 Leswgd. 4. 308) DoNsTRE 28 §
1. 3EELH 237055750 Q. P&Rrfo HF60.
2. DROH DB DEXd. 5. a8 £ 5 .
EXERCISES
a. Answer the following questions as shown in the model.
Model (i) Model (ii)
DEE FOHSo0m? Q080 SrercodIom?
FRAEDHE0E. QB0 STercrieomhEes B8
1. Q0P @ ETE? T BOA.
2. LB 5 Sow? 1. 36 ot &5 Hdgome?
3. Wby SrerEer? 2. ¢ Forfos HegHoerT?
4. PO Soros DPDOrT? 3. VBE G SLOYR BEON0T?
5. 36 aoypi PES eve? 4. Dpwn & Td dIT?
6. &3 EE 3D IO VOTE? 5. ATTS DO Jrden Sotrm?
Model (iii)
36 PGS oD QEe? 3. ©& DO WAST Lo ?
K0T BOEBEP ATk, 4. 5 Qo Srered?
1. 368 DO eN0 S5HH? 5. D5 @8 TR DoD 6Y?
2. S%) & (%) oo @ETY? 6. AD DI o SOTE?

b. Rewrite the following verb forms as shown in the model.

Model

DTS oL, 3. TTEHROL.
DODLIOV FLok. 4. 2277800 S N0,
1. BTSN, 4. 35 Lo ENN0h.
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c. Give negative replies to the following questions.

1. 8 38) Sreraddme? 3. % Do TodiOTT?
2. 080 dady AT ? 4. 08 SrepssaOTT?

d. Rewirte the following sentences in two ways as shown in the Model.

Model 28 Tar 03 BT DdT 0. (Wrseo)

. PS50 28 T S0 BFR) HOTO0RT.
TrEL0 2l T SOS WER) WOTOIT Lol
f‘éé% OGRS’ ;0 . (J8e0)

3 1%3‘@"{;) DADT.  (Boke) 1880)

3% G Seboro wmd. (26 vossTe ES0)

S el (N

e. Give the negative forms of the following.

e8IOND X
STETrONT X
QO AE0 ). SRR
X
X

BSMOOHET
50;535&@7%?%@

f. Change the following sentences into passive voice.

1. 56% & Qugo am®. 3. & &) B o) ridTe.
2. TEES R0BE HONoTR. 4. 9% 2278 S @(‘5‘1 S0 0B,

g. Rewrite the following sentences changing the verb into causative.

1. 2dpcd TS 5 ok 3. 8 o) erihdchyed.
2. TITTID 2TVIrI0 @agod. 4. 28 wondo §TO.

h. Use the following verbs in your own sentences adding —-deod to
the verb, in any tense/mood/aspect.

1. &SSO 2. SE°
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VOCABULARY
FONol(® long ago FOIATSING) to impose
Jrl@resgo  kingdom &)XJQD§S to accept
ore king 850 sentence
D0TO0% rule (V) Sod%ore great king
@@@”éo royal court 0B you (most honorific)
wadderen the eight mythologicgl 56T emperor
elephants situated in 33 your (most honorific))
the eight directions of !
len a barren woman
the earth and carry-
ing it (the earth) on POILIINGS woman loyal to her hus-
themselves. band
S8 often |©5°%0 according to
z‘DéoZr difficult (adj.) QLD valuable
VA0 answer (n.) MSxlefo) necklace
083 royal court 208000 to present (V.tr.)
0TVXITS0 a reward; a prize S mistake (n)
VoY, permission WIS cine-star
38 punishment
GRAMMAR NOTES
59.1. In this lesson the historical or remote past form of the verb is

introduced.

The following pronominal endings —s°¢® vadu (masc. sg.), —od -varu
(epicene honorific sg.), —3"%@ -vallu (epicene plural), -& -di (neut. and fem.
non-hon. sg.), = -vi7 (neut. pl.) are added to the future/habitual adjectival par-
ticiple form (41.2.) of the verb to form the historical or remote past form of the
verb. (See 41 4. for the details of the use of these pronominal endings which are
also called predicate markers or nominalizing suffixes. These are added to an
adjective or an adjectival participle to make it a noun or predicate.)
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An Intensive Course in Telugu
Historical/Remote Past —
Future/Habitual Adjectival Participle + pronominal ending*
* ¢ vadu |->&-varu /—3%50@ -vallu /-& -di | -0 -vi

T /@83 & Thad. 'He used to drink tea.
vadu/atanu T tagévadu.
e920 /€003 & ThTD. 'He/She used to drink tea.

ame/ayana T tagévaru.
e /08 S ePd & HADVE.  'She/Lata used to work in our office.
ame/lata ma atisulo panicésédi.

TEY) e S@S@*oﬁo@%@; "They used to sleep in day-time.'
vallu pagalu nidrapoyévallu.

% a8 §& Gokd. 'There was a fort.

akkada oka ko a uMdeédi.

e §'& ﬁoé&g QEY &0%R. "There were trees around that fort.'

a ko a cu i ce lu ubMdévi.

59.1.1. If the subject of the historical/remote past verb is in first or second
person the said verb forms are used with suitable concord (2.6.; 5.5.; 5.5.1.)
just like the adjectival paredicates do (see 14.3.1.). The reason for this verb
form taking concord suffix (like a predicate noun in a NP + NP type of
sentence which is also called verbless sentence (1.1.; 2.6.) is that the historical/
remote past verb form is a nominalised form of the verbal adjective functioning
as a predicate (adjectival predicate derived from a verb).

38 19638 (hoerdrS” eobars/wotard). 'Tused to live in Gungur
nénu 1963 1o guM drulo uMdévanni/uMdédanni.  during 1963.

59 19708° Jo BwTE? 'What did you used to
nuvvu 1970 16 EM césévadivi? do during 19707
Q06 19708 do DTy /B 0ards? 'What did you used to
miru 1970 16 EM césévallu/césévaru? do during 19707
0/530 19708 & et ). "'We used to play cricket
méMymanabMl 1970 1o krike adévallaM. during 1970.'
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59.2. The historical/remote past continuous form of the verb is also in-
troduced in this lesson. The same pronominal endings shown in 59.1. are
added to the present adverbial participle (31.2.) + &oC* uMdé construction
to form the historical/remote past continuous form.

Historical/Remote Past —
Future/Habitual Adjectival Participle +
[¢s0C uMdé + Pronominal ending**]

*¢s0te uMdEé is the future/habitual adjectival participle form (41.2.) of the verb
€0C¢ uMdu which functions here as an auxiliary verb.
** 7 vadu [-5&-varu | —U’%@ -vallu /=& -di | - -vi]

T /08D 19608 Saréen &otwr Gotard. Tn 1960 he used to eat
vadu/atanu 1960 10 capatilu tiM d uMdévadu.  chapatis.

T4 19608 Srden Sokr LoLTw). 'In 1960 they used to eat
vallu 1960 1o capatilu tiM a uMdévallu. chapatis
@0 19608 Srden Sotr Gowd. 'In 1960 she used to eat
ame 1960 16 capatilu tiM i uMdédi. chapatis
QB T TH SSTO ST S0%d. 'Last year letters used to
nirudu rojii naku uttaralu vastid uMdeévi. come to me every day.

(I used to get letters every day last year.)

59.2.1. Like the historical/remote past forms the historical/remote past
continuous forms also show a concord with the subject in first and second
persons. (See 59.1.1.)

QB S0 Faz 28 fody S 'Last year, I was walking every
&OLTe] /GO, day for one hour.'

nirudu nénu roji oka gaM a nadusti
uMdévanni/uMdédanni.

D W0 /S0 Taz 28 fod 'Last year, we were walking
S0 LT 0. every day for one hour

nirudu méMy/manaM roji oka gaM a
nadustil uMdévallaM.
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QB Y8 S 2.8 fod SEOIT 'Last year, You were walking

G0LT G [ GOLETRR. every day for one hour!
nirudu nuvvu roji oka gaM a nadusti
uMdévadivi/danivi.
DB G Faz 28 Hody ST 'Last year, You were walking
&S0LsaT D /S50tsaT ). every day for one hour!
nirudu miru roji oka gaM a nadusti
uMdevaru/uMdévallu.
59.3. In this lesson the abilitative base is also introduced. Recall the abilitative

forms introduced in lesson 50, such as Jr¢éiieocd padagaladu 'He can sing.',
J&B padalédu'He cannot sing.', ete. (50.1.; 50.1.1.; 50.1.2.). It has been
stated that the abilitative forms do not express any tense (50.1.). But the abilitative

base can be conjugated for different tenses, aspects and moods.

593.1. The abilitative base is formed by adding the auxiliary verb —¢end
-galuguto the infinitive form (29.1.) of the verb*.

Abilitative base — infinitive (29.1.) + —fo0* -galugu

* —feord -galugubehaves like a trisyllabic base in changing the second vowel
to ® a(155.1) and to ¥ 7(28.6.).

39)-rfenrh-SoT) - = BDYfeorbEsTSo Tam able to tell.!

ceppa-galugu-tunna-nu

QDN)~(M-& —0 = DIOMCE 'He was able to tell.'
ceppa-galugu-& -du = ceppa-galig-z&-du  (2.12.2.;28.6.)

QDN ~(AMN-& - = AT T will be able to tell.'
ceppa-galugu-ta-nu = ceppa-galugu-ta-nu

D) ~(M-w&0 = D)oo 'being able to tell.'
ceppa-galugu-a aM= ceppa-galag-a aM  (2.12.2.;15.5.1..)
DN -HH-28 = IDIOND 'if one is able to tell.'
ceppa-galugu-ité = ceppa-galig-ité (2.12.2.;28.6.)
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DN -(0MH-AI = D)AONS 'that which/who is/are able
ceppa-galugu-ina = ceppa-galig-ina (2.12.2.;28.6.) to tell.'
DN -AMH-AT = DNAONT 'though one is able to tell'
ceppa-galugu-ina = ceppa-galig-ina (2.12.2.;28.6.)

59.3.2. The negative abilitative base is formed by adding ~&&0% -/ékapo
to the infinitive (29.1.) form of the verb. The negative abilitative base can also

be conjugated for different tenses, aspects and moods.
Negative abilitative base — infinitive (29.1.) + -S89 -lekapo

* ~2EP -Iekapo behaves like the verbal base & poin taking various suffixes.

D)~ BEF- o)~ T am not able to tell.
ceppa-lékapo-tunna-nu

5&9—@&3*—055"—(63 T was not able to tell.'(37.1.)
ceppa-lékapo-ya-nu

D) -BEP-a00-& 'She could not tell.  (37.1.)
ceppa-lekapo-yiM-di

DO)-BEP - 'if one could not tell. (32.2.1.)
ceppa-leékapo-té

D)~ BEF-000 'that/those who could not tell.' (41.1.2.)

ceppa-leékapo-yina
594. The causative forms of the verbal bases 23)¢ /vvu 'to give'and ®
1€ 'to bring' are )0k ppiMcu and )00 feppicu respectively.
A B WS chey ALD. 'T will have the money given by Ravi."
(R0 + &-& = FO)TDH 31.4.)
nénu ravi céta niku dabbu ippistanu. (ippiMcu + ta-nu = ippis-ta-nu)
o0 Ad D& ¢z @%JQCZO. 'Let us have the money brought by Giri.
(@20 + To = dnE-To = dMTo 314.;266.)
manaM giri céta dabbu teppiddaM. (teppiMcu + daM= teppid-daM)
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59.5.  The passive voice is also introduced in this lesson. Though passive
voice is not very much used in spoken variety of Telugu, it is used at times in
written variety of Telugu as a stylistic variation. The passive base is formed by
adding the auxiliary verb —e0¢® -badu to the infinitive form of the verb.

Passive base infinitive (29.1.) + —20¢%* -badu

* —23¢® -baduis a changed form of the verbal base 3¢ padu. It behaves like
0¢D paduin taking various suffixes and in undergoing changes before those
suffixes. (See 38.2.)

wowg  ceyyl 'to do' 1 Qodg-2dcd ceyya-badu 'to be done'
e adugu 'to ask' 1 e9&A-20¢d adaga-badu 'to be asked'

S 00 DogarcoEood.  'This work will be done.!
I pani ceyyabadutuMdi.
TET T OO0 &Y W0¢R. It was stated that Satavahanas
Satavahanulu aMdhrulu ani ceppabaddadi. were Andhras.'
DO~ = 5@3@%—@—& = DGO (38.2)
ceppabadu-a-di = ceppabadd-a-di
59.5.1. When the passive voice is used the agent-noun will take the agentive
case marker & -céta 'by'.
& DY 6D WS Dodgagh. 'This work was done by Ravi.

I pani ravi céta ceyyabaddadi.

59.6. The auxiliary verb & -firuis added to the past adverbial parti-
ciple (45.1.) form of the verb to give a definiteness or certainty to the meaning
of the verb. The compound base thus formed will take all tense and mood/
modal suffixes.

& D 8 BV 8%-w- (&) Ravi will definitely do this work.!

I pani ravi cési tirutadu. (27.8.)
So%0 erm & HTd (88 + ). 'We must play well.
manaM baga adi tirali (tiru + ali) (2.12.2)
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59.7. &S tamaru 'you' is a 'royal/most formal/most honorific second
person pronoun. The corresponding oblique base is &0 tama.

B30 0O To&.  tamaru lopaliki raMdi. "You please come inside.
B0 08 IS)lele tama péru ceppaMdi. 'Please tell your name.'
& éoét) B0%0. I kurcr tamaku. "This chair is for you..'
59.8. Notice the usage :
OI%0E GOGBEN ST . 'He could not remain without
anakuMda uMdalékapoyadu. saying something.

This is an emphatic expression of affirmative (past tense) form e
annadu 'He said.', and it contains double negative - one in @30t anakuMda
(the negative adverbial participle [45.3.]) and the other in &OGBEPo3Tci
uMdalékapoyadu (the past negative abilitative [59.3.2.]). The opposite form
of the above expression is

I80% OO CD. 'He could remain without
anakuMda uMdagaligedu. saying something.

which is also an emphatic form of the (past) negative form e8> analédu
'(Somebody) did not say'. Such expressions stylistic variations with some
change in the semantic content. Consider the following examples:

ST\. 'He ate. &3D.  'He did not eat.
tinnadu. tinalédu.

BIK0E SOGDEI I, SI0C GotIOMCD.
tinakuMda uMdalékapoyadu. tinakuMda uMdagaligadu.
'He could not remain without eating.!  'He remained without eating.'
NS el c;ﬁj"&z’cé@(ﬁo mda ladalédu
ma ladedu.  'He spoke. 'He did not speak.'

NSl Vlolecy GOGBED aTo. SIET 0T OO,

ma ladakuMda uMdalékapoyadu. ma ladakuMda uMdagaligadu.
'He could not remain without speaking." 'He remained without speaking.'
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